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SECTION A
qAT

1. Butanone is a four-carbon per molecule compound. Name the functional
group present in it. 1

w@ﬁq@wmﬁ?qﬁrmmﬁﬁﬁélsﬂﬁmﬁm%wm
fafew |

2. Why is the colour of clear sky blue ? 1
e S & 1 den ¥4 e g 2

3. Why is decrease of ozone in our ozone layer a cause for our worry ? 1
T S WA § S @ ge e fe Fe @ ER @ g § 7

4, Why are bacteria and fungi called decomposers ? 1

ey (S iR e (FES) 3TTEH (decomposers) i Feed § 7

5. 1In the periodic table, how does the tendency of atoms to lose electrons
change on going from

) left to right across a period ?

(i)  top to bottom in a group ? 2
aEd gRef |
@)  fed emad # A ¥ o oW #, SR
G e o § eW ¥ AR SN
e e # et @I S R R s R ad €

6. What is meant by periodicity of properties of elements ? Why are the
properties of elements placed in the same group of the periodic table
similar ? ' 2
Hﬁlﬁ%‘]}ﬁﬁ%ﬁﬁ(periodicity)ﬂﬂé(@ﬁ%\ ? oed 9ol % U & A
i@ T A F 0 UHENH woad € 2

7. Define and show on a diagram, the following terms relating to a
concave mirror : - 2
(i)  Aperture '
(ii)  Radius of curvature
s <o wE e S we ffe ol 3R TE fE W REwT
(i) U9 (5% Aperture) . ,
(i)  @shar e
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8. Ex.plain the formation of rainbow in the sky kwith the help of a
diagram.

Tw o T oMEn § TREY & 94, @ AR @ TR |

9. Give reasons :

(1) The extent of deviation of a fay of light on passing through a
glass prism depends on its colour.

(ii) Lights of red colour are used for danger signals.

I FRUT FARY

@) v S e for @ we & ST ¥ 9 P W feed 99 39 3T )
freft A 2 1

(i) o TR G TR F Gl ¥ ET P

10. What is vegetative propagation ? Write two of its advantages.

Ffy% S (vegetative propagation) F41 Bl 8 ? W% & W fag |

11. Explain the terms :
(1) Implantation of Zygote
(ii) Placenta
T 9 A HNT
1) WA (Zygote) S TG
(i) &= (Placenta)

12. Define :
1) Biomass
(ii) Anaerobic degradation
gty fafae .
(i)  S9-9F (Biomass)
(i) SEEEE 37T (Anaerobic degradation)

13. What is an equitable distribution of resources in a society and why is
it necessary ? State any two factors which work against an equitable
distribution of resources.

'mwﬁmmwﬁamwﬁm%aﬁiﬁwémwmm
2?7 9€ @ W org MfEy S g & g e % g e e €
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14.

15.

16.

31/2/1 : 5 ' P.T.O.

(a) What is a homologous series of compounds ? List any two of its
characteristics.

(b) What is the next higher homologue of CgH,OH ? What is its
formula and what is it called ?

(%) dAfie S TS SO (homologous series) M Bl € 2 THH i3 o
fagmand fafag |

(@ C3H,0H ¥ 7l ST woeiig e & 7m 3 g7 fafan |

The positions of three elements A, B and C in the periodic table are

indicated below :

Group 16 Group 17 ’
_ — (First Period) |
— A (Second Period)

— — (Third Period)
B C - (Fourth Period)

(a) State.Whether element C would be a metal or a non-fnetal.
Why ?

(b)  Which is the more active element, A or C ? Why ?

(¢) Which type of ion (cation or anion) will be formed by the
element C ? Why ?

T @ A, B 3R C % smed 9of ¥ W A feaw TR
it 16 it 17

_ — CEEIRCIERD
— A (HT 3
_ _ (T 31E)
B C (e 371Erh)

(%) 'ﬁF@qﬁaﬁCm@‘sﬁmwmlmﬁ?
(@) S| oo fus Brareiel 8, A 3ger C 2 F 2
(M  d@ C HeEF (991F9) TGN A6 THEA (FongE) ? w1 ?

With the help of a ray diagram explain why a convex mirror is
preferred for rear view mirrors in motor cars.

@memmﬁﬁamﬁ%aﬁa@aﬁé@%mm
o & =& 3y a1 WA ST 7 |
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17.

18.

19.

- 20.

21.

22.

23.

What is understood by lateral displacement of light ? Illustrate it with

- the help of a diagram. List any two factors on which the lateral

displacement in a particular substance depends. :

THY % ueel (lateral) e @ w1 @O @I € ? T OWE FW ¥ AU W
foror o oY | U E @ FRe ey N9 ) 5 ugrd oo § s ot
foreroy w0 A fefk @ @ |

Name the three common defects of vision. What are their causes ?
Name the type of lens used to correct each of them.

T F AT g I & W fAfET | 3 fN O RIS § 2 T ¥ sad
& fau guws o @ AW off fafag |

Expand AIDS. List any four methods of prevention (control) of AIDS.
AIDS & -0 fafay | AIDS & U & i 9r faftel gEes ST |

Explain how evolutionary relationships can be traced by the study of
homologous organs.

Wy FNC 5 gesrdg 7 F @ B0 FU faEEeie (evolutionary) TERl @I
T G € |

“Only variations that confer an advantage on an individual organism
will survive in a population.” Justify this statement.

“Sad @ UREdd, o R e S w1 ooy vgen €, ad Smeen ¥ ae wa
g1 3 &Y B wudd FNT |

How is the sex of the child fixed durmg the fertilisation step in human
beings ? Explain.

mﬁhqwﬁwﬁm%wﬁu&mﬁmw@m%7wm|

Give reasons for the following :
1) Element carbon forms compounds mainly by covalent bonding.
(ii) Diamond has a high melting point.
(iii) Graphite is a good conductor of electricity.
(iv)  Acetylene burns with a sooty flame.
(v)  Kerosene does not decolourise Bromine water while cooking oils
do. '
OR

(a) What is a detergent ? Name one detergent.

(b)  Write two advantages and two disadvantages of using detergents
over soaps.

(c) Why, by using a detergent, can we wash clothes even in hard
water ?

31/2/1 6




frafafes & fau sror ST .

@
(ii)
(i11)
(iv)
)

()
(@)
(m

24. (a)

(b)

()

(a)

(b)

()
(W)
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FE T GO GEEae e N @ A aer @ |
R TS I Al B |

e fagd @ gaes 2 |

Teifeei yder ot & St @ |

FAT FEE T & T R TR T Har Jafe e Eﬁwﬁ# & a1 39 TN
e §

et
feesfe (3ramsTs) %Rﬂ'fﬁ?n ? ) el @ feesz W :ﬂq'f%ﬁiﬂz |
A & qa # feedle yam % 3 @ ik @ ot fafae
feeSle & AT 0 g9 HUSI S FIX 5 H Ff 9 ghd & ?

Under what condition will a glass lens placed in a transparent

liquid become invisible ?

‘Describe and illustrate with a diagram, how we should arrange

two converging lenses so that a parallel beam of light entering
one lens emerges as a parallel beam after passing through the
second lens.

An object is placed at a distance of 3 cm from a concave lens of
focal length 12 c¢cm. Find the (i) position and (ii) nature of the
image formed.

OR
With the h‘elp of a ray diagram explain why a concave lens
diverges the rays of a parallel beam of light.

A 2.0 cm tall object is placed perpendicular to the principal axis
of a concave lens of focal length 15 cm. At what distance from the
lens, should the object be placed so that it forms an image 10 cm
from the lens ? Also find the nature and the size of image formed.

fra feaf § fre WRER 9 TAT g3 BT H TH OF 3GTF & S 2
& o TR €uied 9 9ui i F @ ofaed A9 W Y TR eEftea
& 9§ YW A e GEERR T R O ﬁgﬂi AT ¥ A

. SN W T GRG0 0W 6 @ w9 # e |

7 : P.T.O.



(M

(%)
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25. (a)

(b)

(a)
(b)
()

(%)

(@)

(%)
(@)

(M
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AT
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2-0 ¥ IE F fom N 15 I BE g F A oW F [ I W
o T T R | e @ g ¥ e o | T 9 R sgen it
AT W10 9 F W W | TG g e W e R W 3@

.a?rl%rm

Draw a diagram illustrating fertilization in a flowering plant and
label on it :

Male germ cell, Ovafy, Female germ cell and Pollen grain.

Distinguish between self pollination and cross pollination.
OR

What is spore formation ?
Draw a diagram showing spore formation in Rhlzopus

List two advantages for organisms to reproduce themselves
through spores.

T Fe A A g # e Rem % fAu wE e e ek s W
sHfea FNT .
R 9 (germ) FIH, 3TWHA (ovary), & ST (germ) @rﬁf@r 3R
W7 %7 (pollen grain) |

T S wE ¥ s R |
o l
sfiS7] GATEY (spore formation) ¥ Bl § ?
TG (Rhizopus) § 0] 9owE & K@M % o fE 9T |
SHEl & HS] TR TS & B QA gEEs SN |




SECTION B
"

26. Dhoni obtained the image of a distant object on a screen by using a
concave mirror. To find the focal length of the mirror he should
measure the distance between 1

~ (A) the mirror and the screen as well as between object and the
- screen

(B) mirror and the screen
(C) object and the screen
(D)  object and the mirror

g T oTEae U R WA W UF [ F A F s W) Al s fmar | oo
Fr wed T 99 A & faw ¥ A e S gd

(A) T AR B F A9 Hoad e ok B % a9
(B) 0T SR A & I H
€) o ol &F % F= R
(D) fa= sk o & &= =
27. Which of the following can be used to find the focal length of a convex

~lens ? 1
(A)  Object ét a distance of 10 cm for a lens of focal length 30 cm
(B) Light from a laboratory window
(C) Light from the sun
(D) Light from a tree next'to thé window
@Wﬁﬁaﬁﬁwiﬁﬁﬁm%mﬁﬂﬁﬁgﬁﬁﬁmwl AT R S
T 7 ?
(A) 30 o wHE TW & 99 & AT 10 ¥ g | fow @
(B) YA & fagd ¥ oM W N H
C) ¥ q 3 W I H

(D) fou ¥ e B 9w T o @ VHW W@
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28. Mohan, Sohan and Rahul separately measured the focal length of the
same convex lens using the same distant tree as object. All of them
measured the distance between the lens and the inverted image of the
tree on the screen.

Mohan obtained a sharp image on the screen and labelled the
measured distance as f;.

Sohan obtained a slightly smaller and somewhat blurred image on
the screen. He labelled the measured distance as fi.

Rahul obtained a slightly magnified and blurred image on the screen.
He labelled the measured distance as f;.

The three measured values of focal length are likely to .be related as
A f; <fy and ] =15 |

(B) f;<f, and f; <fj

(C) f3>1f;>1,

D) f; =1, =1

T Q99 & e W AR Aed, W SR Tgd Y gag-UTe UF & Suel Ay
N HEE gl B AW | 9 A W R W W a4 U & IR ufafaw & o
F gl & A

et 3 WA R T AR () s e R ok W @ A f, ¥ s
[ERI

W § G W e D 3l T e R e R iR Wi gf @ f,
¥ Hafaa feam |

TEA 7 BT W AST F91 SR Yguer wafod e | sEA Wit g @ f, @
Hehfera feam | |

weT g & A9 Wiq HEl B e geEd g

A f<f, 3R f =1, 3

B) f;<f, 3 f; <f,

©€) f3>f>1,

D) f;=1f,="f

31/2/1 10



29. The best set-up of pins for the incident ray to trace the path of a ray

of light, through a rectangular glass slab is represented in the figure 1
: I IT III v

A 1 , (B) I

(C) III (D) IV

YT U & UE TSR BT Wi & d9 & 99 H e % g sufad e
% fou fel & o @ A @ R fa o femrn mn g 2

I I1 111 v
A) 1 (B) 1I
(¢ 1 D) IV

30. While tracing the path of a ray of light through a rectangular glass
slab, the four students I, II, III and IV arrived at the followmg
different conclusions :

Student I :  Angle of incidence > Angle of emergence.
Student II :  Angle of refraction > Angle of emergence.
Student IIT : Emergent ray is parallel to refracted ray.
Student IV : Emergent ray is parallel to incident ray.

The correct conclusion has been drawn by the student 1
A 1 (B) 1I
(C) 1III (D) IV

m%wwﬁaﬁﬁq&sm%mwﬁﬁamﬁmml II, III
3R IV & fofg o fir 9o 9

7l oA iU > fia HioT |

g7 I :  3T9adq Hvl > g i |

o7 111 . frlg fetor ervafda feor & 99 @ |
g7 IV : fola faor emofaa foor & 9amR 2 |
e = o G 3 oo

A 1 B) I
(C) II D) IV
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31. On adding a clean Aluminium strip to an aqueous solution of copper
sulphate, it is observed that the colour of the solution changes from

(A)  blue to colourless (B) colourless to blue

(C)  blue to green - (D) green to blue

TIHFEm & 9% 78 # FW Tohe & Sl |qﬂqﬂﬁ51mﬂﬂﬁ@r§%ﬂf‘$
foerem @1 &1 wee @

A A (B) R ¥ Fem
(C) 9w D) | T e

32. An aqueous solution of zinc sulphate was taken in four test tubes. Zinc,
Iron, Copper and Aluminium pieces were dropped into separate test
tubes as given below :

v
Zn—£0 Fe o0 Cu—0 Al—0
I II III I

A reaction will be observed in test tubes
(A) T and II (B) I and III
(C) 1II and III ; (D) only IV

S go%he & Sy foome & SR wEAaE § for | S, o, ew
IR UGfaEm & TS YAF-UI% WEAd § e T | A8 fawam f faw #
gfaa frar w2

5 v
Zn—keo Fe —e0 Cu—keo Al—\ed
II T1I IV

I
Afafrar w1 B oo W e waAfa § 2

(A) 13RIl (B) IR III
(C) II 3R I (D) Faa IV

31/2/1 12



33. On shaking acetic acid with water

(A) a colloidal solution is formed.
- (B) a suspension is formed.
(C) a homogeneous mixture is formed.
(D) a heterogeneous mixture is formed.
tdifes ot & S & 919 ffem ®
(A) TF FIAEE O a7 g |
(B) TU& f7e=H (suspension) sdT & |
(C) uw TN fagor st @ |
(D) T fawAil fasor ser 8 1
34. When solid sodium bicarbonate is added to a dilute aqueous soluﬁon of
ethanoic acid
(A)  Brisk effervescence takes place and an odourless gas is evolved.
(B) Brisk effervescence takes place and a pungent smelling gas is
evolved. '
(C) No effervescence occurs and no gas is evolved.
(D) Brisk effervescence occurs and a gas is evolved which helps a
glowing splinter to burn with a flame. ‘
Tq TAAEE ST & O S fAead § 39 Wifsan aReEiAe e S g
(A) T JegEEe BN 8 SR T THEM AW e g |
(B) i SeEmee B € o uw el T Al g e @ |
(©) 7 eEeRe B 2, 7 HiE 9 e § |
(D) i FeERe B 8 R TE A9 ket € ST UE Gorrd dict S fer
WM
35. As observed in the school laboratory, acetic acid is
(A) Dblue in colour and has a fruity smell.
(B) colourless and smells like vinegar..
(C)  colourless and has no odour.
(D) colourless and smells like rotten eggs.
31/2/1
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foremera ERTeT # 3@ W F IER, WHIRTE o
(A) A T Far @ SR well S T @ 7
(B) - grar & i fae S Ty o §
(C) {r-ga R fomr T & @ 2 |

(D) -t ok we SR S T A A g |

36. A slide shows a cell and another similar cell of smaller size attached to
the tip of the first cell. This slide could be of

(A) two buds of yeast
(B) yeast with a bud
(C) Amoeba with bud

(D) two daughter cells of Amoeba

@m@maﬁzmmmﬁ@@wawmﬁm
2| T WiEE & Wad ©

(A) TR # T et H

(B) TH &l & w9 @R F

(C) TE FA & WY Er W

(D) onfar ¥ wafr (G e @

37. The process represented in the given diagram is

L

(A) formation of bud taking place in Amoeba
(B) formation of daughter cells in Amoeba
(C) identical gametes being formed in Amoeba

(D) formation of spores in Amoeba

31/2/1 14




=
BERC

(A)  orflar § el @7 FA

(B)  ser H Hafq (T) ks & a9
©) adar ¥ s TSl (gametes) H T
(D) @ § dSgE (spores) CARCEE]

38. The budding in yeast is illustrated by the following diagram :
I II IiI IAY

@ 1 | (®) I
C) III | (D) 1V
frafafaa gfadl § ¥ @ @ik 1 gHe fafE o 8 2

I 11
ISR (B) 1I
(C) I D) IV

39. If W1 iS the initial mass of raisins and W2 1s the final mass after
soaking in water, then the percentage of water absorbed by the raisins
is

W, - W W, - W

1 2 2 1
(A) W, x 100 (B) W, x 100
W, — W, —
(C) 2 1 x 100 D) L — 2 x 100
W, A

N s WA | A ™



40.

41.

A W, fraiiier & & 1 SRt 5o @ SR o R % ST W, st
asmm‘eﬁ A frufrg & <& § Wifte ST @ fawraar ge

W, - W, W, - W

A —L_—2 x 100 B) —2—1L x 100

w, , Wz
| W, - W ' W, - W,
(C) —2—1x100 D) —L_—2 x 100

Wy Wy
Instead of room temperature (25°C), if the water used for soaking is
50°C, the percentage of water absorbed by raisins will be - . 1
(A) the same:
(B) less
(C) more

(D) exactly twice

aﬁ%ﬁ%aﬁ(zwmmaammﬁrﬁawwmm%@ q feufie &
T g O S @ Sfawrdar e

A) WS S

B) T FA

C) A ¥ s
D) WA F 5 FA

The set of materials required in the experiment, “to determine the
percentage of water absorbed by raisins” is _ 1

(A) Raisins, water, filter paper, beaker

(B) Raisins, beaker, balance, weight box

(C) Raisins, beaker, water, balance, weight box

(D) Raisins, beaker, water, filter paper, weight box, balance
Fmﬁmm&ﬁmwﬁmmm”%mﬁwmﬁ
A) frufw 3 gH, 5@, fReet IR, die

(B) fevifier & <M, e, qa, IR-T

(C) foufaw & TM, die, o, gan, Te-I59

(D) fFuda & g@, fo, 3@, Mok TR, ae-g9, g
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